i |
"L?LFQEQI\

PLAYGROUNDS

designed for sustainahble and creative play

301-002-004

18-03-2020 / Rev.: A



501-002-004

(1740)

342 2660
MAX —~ 2730
kg/cm
«
_——
/1/
o
o
[e0)
N
’ |[ ]‘ 806
dlllb 498 — |[ ]‘ |[ ]l
EN 1992-1-1 1 100
| 4__"0"
Y - 100
ESESCMEEEFRAISEL Y VLI ) I I B B RN SIS AN PR SEETINERE PRI RSN BRI N B N Rl
(140)
o \
o
o)
2 1500 %Q . 3
) Kéj ~
i J
5674

2 4,5h 16,5m? 5,7x3,3x2,9m ~127kg 85X285

w NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Breedstrup « Phone +45 7575 4199 « mail@norna-playgrounds ¢ noma-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.




S$11880

SR00074

SR00022

Parts List
QTY PART NO DESCRIP.

1 D11155 45x283 cm, assembled
1 D11355 Block/chain 70 cm

1 D11370 Block/chain 80 cm

1 D11371 Block/chain 90 cm

1 S11880 @250/45 mm

1 SR00022 @60x3 Tube

1 SR00074 450x540mm

501-002-004

D11355
AN

D11370

A

D11371
N

I

D11155

e

Bty \\




LE16054

LE16063

LE16062

Parts List
QTY PART NO DESCRIP.
1 LE15252 M16x200 mm
1 LE16054 M10 cap nut
4 LE16062 10x14 mm
1 LE16063 10x90 mm
1 LE16152 M16 - @30 mm
1 LE16556 J42/38mm

501-002-004

LE16152

LE15252
%(@

LE16556

Cle
\ o
r:f:T - — — /1
| \ |
- S
]S
" 5 " NORNA 100g
| 0 (LE16604) |

Lubricating paste




301-002-004

3

(1/50)

—
//' LE16406

4NN
-y

@10x85

Y77

D@

] f
EN 1992-1-1 TT [HH
Y ' 0" Hilt
IR R R D B DN BESEN BREC PR
LE16599
fs
LE16406
F
S LE15910
LE15901
LE16599

LE16502 LE13100
LE16048
Parts List
QTY PART NO DESCRIP.
1 LE15252 M16x200 mm LE16064
1 LE16054 M10 cap nut
4 LE16062 10x14 mm
1 LE16063 10x90 mm
1 LE16152 M16 - @30 mm
1 LE16556 J42/38mm




